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GENERAL COMMENTS

Students’ overall performance on the November 2008 paper was better than November 2007. Responses to the short
answer section achieved marks that were 11 percent higher than in 2007. Multiple-choice responses showed a similar
increase.

In contrast to previous years, the scores in the Short answer section (mean 59% correct) were very similar in all three
sections: ‘Memory’ (60.4%), ‘Learning’ (60%) and ‘Research Methods’ (58%). In the Multiple-choice section, scores
for ‘Memory’ (81% correct) and ‘Learning’ (79% correct) were both superior to the 2007 averages, and to those of
previous years.

It is noted that in this examination a total of 593 lines were left blank on the students” multiple-choice answer sheets.
This is more than the number for November 2007, which indicates a negative trend. Students are encouraged to respond
to each question. Not only is it impossible to achieve a mark where no response is given, but the likelihood that later
answers on the computer-scored sheet will be out of synchronisation will be increased and further marks may be lost. If
unsure, students are again advised to mark the response that is their ‘best guess’ for any question. It is always possible
to change a response by carefully erasing and re-shading.

It is advised that use of a ruler, moved down the page as each question is answered, will help to ensure that the correct
response line is being completed.

In the Short answer section, problems again arose in terms of failure to address command terms in questions, or failure
to relate the answers to the scenario described in the question. Students appeared to have some difficulty interpreting
questions and often did not gain marks due to a lack of precision in their responses. In each of the first two Areas of
Study, the mean score on the Multiple-choice section was, as in previous years, substantially superior to the mean score
on the equivalent Short answer section.

Marking Policy

As in all previous examinations, a two-mark question will usually require two pieces of information. One mark will
usually be given for each part and an answer that does not address both parts cannot achieve full marks. In this
examination this applied, for example, to Question 10 of Area of Study 2. In Question 15 of Area of Study 3, students
were required both to state whether participants had been randomly selected and to explain this answer in a question
that was worth only one mark. Students who did not complete both parts therefore could not achieve any marks.

Almost all questions requiring two parts to an answer showed two separate response spaces on the answer booklet.

This examination contained several questions in which students were required to answer with respect to a certain
theory, context or scenario. This applied to Questions 2, 3, 5, 6, 7, 8a., 8b., 9a., 9b., and 9c. in the first two Areas of
Study. Similarly, all questions in Area of Study 3 must have been answered with reference to the research study
described, as stated in the instructions on the examination paper. Generic answers do not show clear understanding and
cannot gain full marks.
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SPECIFIC INFORMATION

Section A — Multiple-choice questions

VICTORIAN CURRICULUM AND ASSESSMENT AUTHORITY

The table below indicates the percentage of students who chose each option. The correct answer is indicated by

shading.

Question | %A | %B | %C | %D |

Comments

Area of Study 1 — Memory

1 2 89 6 3

2 2 1 94 3

3 75 1 5 19

4 2 4 2 91

5 7 10 80 3

6 3 83 5 9

7 1 3 8 88

8 4 94 1 1

9 12 7 79 3

10 90 8 2 1

11 1 92 4 3

12 78 6 11 5

13 4 14 8 74

14 76 21 2 1

15 86 1 8 5

16 95 2 3 0

17 8 2 2 88
24% of students chose option B, which would have been a

18 9 2 6 61 correct response if the question had not clegr_ly stated that
this was a healthy elderly person. The inability to learn new
material is one of the early signs of dementia.

19 1 84 4 11

20 5 1 93 1

21 4 0 93 2

29 23% of students chose option D, indicating that students

66 8 23 2 should learn inequality signs carefully.
IArea of Study 2 — Learning

23 77 10 7 6

24 6 8 9 77

25 5 74 3 18

26 4 10 3 83

27 89 5 3 3

28 6 88 1 5

29 20 2 75 3

30 1 12 2 84
Options A and B were both accepted as correct answers. If
‘having fun’ was considered to lead to ‘feeling happy’, then

31 24 60 6 11 ‘having fun’ was the unconditioned stimulus. If “having fun’
was the result of ‘making scones’, then it was the
unconditioned response.
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Question % A % B % C %D Comments

Option A — taste aversion can be important for survival,
\whereas classical conditioning is not. This is obviously an
incorrect response.
Option B — taste aversion is an active process, whereas
classical conditioning is passive. The learning process is
passive in both taste aversion and classical conditioning.
Option C — taste aversion will become extinct after only one

32 10 22 15 52 P L X )
trial without the unconditioned stimulus, whereas classical
conditioning requires repeated trials. Taste aversion is, in
fact, very resistant to extinction.
Option D — taste aversion can involve a lengthy time lapse
between the unconditioned stimulus and the unconditioned
response, whereas classical conditioning usually involves a
\very short time lapse.

33 2 1 91 6

34 3 12 3 81

35 66 5 17 12

36 9 81 5 6

37 7 3 16 74

38 1 14 83 2

39 19 1 72 7

40 89 6 3 3

41 74 5 19 2

42 2 1 17 81

43 4 93 1 2

44 5 70 12 13

Responses to Questions 37 to 39 showed that students had difficulty in discriminating the work of Thorndike from the
work of Skinner.

Section B — Short answer questions
For each question, an outline answer (or answers) is provided. In some cases the answer given is not the only answer

that could have been awarded marks.

Area of Study 1 — Memory

Question 1
Marks 0 1 2 Average
% 4 11 85 1.8

Typically the capacity of short-term memory is in the range of 7 + 2 (5-9) items of information. Any range (that is,
spread of 2 or more) between 4 and 10 was allowed. In short-term memory, grouping individual items of information
together and remembering them as a group is known as chunking.

In a single word answer such as this, other words were not permitted to be substituted for the correct term.

Question 2
Marks 0 1 2 3 Average
% 7 11 18 64 24

Group A would be expected to remember the most events from the film because:
e they would have been assisted by being in the same context as when they saw the film (they had context-
dependent cues to assist them). ‘Context cues’ was a key term in this answer
e itis easier to recognise events from a list than recall them without help (recognition versus recall). The term
‘recognition’ was a key term in this answer.
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Question 3
Marks 0 1 2 Average
% 49 35 15 0.7

Definition: Savings score = Amount of time saved when information about the tropical plants is relearned

Formula: Time taken to learn definitions the first time — time taken the second time x 100

Time taken the first time

One mark each was awarded for the definition and the formula. “Trials’ did not receive a mark because the question
specifically referred to ‘time’ in the scenario given.

Question 4
Marks 0 1 2 Average
% 43 35 23 0.8
Both of:

e echoic memory stores impressions of sound for 3—4 seconds for each impression to slightly overlap the next

e 3-4 seconds is long enough for us to be able to link impressions of sound with the next syllable or word we
hear, so when we pay attention to them (to transfer them to short-term memory) we are able to make sense of
the sounds as a word or the words as a sentence.

OR

This acts as a filter because if the duration was longer, the words would start to overlap and be ‘jumbled up’ when we
paid attention to them.

Few students identified the filter function of echoic memory.

Question 5
Marks 0 1 2 3 Average
% 13 10 28 49 2.1

Maintenance rehearsal
e repeat notes from the board (sub-vocally) to retain them while you write them down
e repeat a definition over and over again to remember it

Elaborative rehearsal
e link information to a personal experience or personal situation
ask a question about the information
create visual images, for example, mind-mapping
use a mnemonic to add meaning to the information
think about the meaning of the information

One mark was awarded for each example. Students were asked to give one example of maintenance rehearsal and two
examples of elaborative rehearsal. Two marks were also awarded for two separate and different mnemonics.

Question 6
Marks 0 1 2 Average
% 41 42 17 0.8

e  Transfer of information from short-term memory (STM) to long-term memory (LTM) requires a period of
consolidation for permanent storage to occur, as neuronal (physical/chemical/biological, etc.) changes occur
(according to consolidation theory). Memory may be lost if this consolidation is disrupted. The concept of
neuronal change (or memory trace formation) was critical in this response.

o As Mark kept thinking about the accident and his consolidation of the memory was not disrupted by injury, it
is likely that this memory of the accident passed into his LTM. It was important that students identified that the
memory was stored in LTM.
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One mark was awarded for each of the above points.

Despite the emphasis in the question, many students answered this question as if Mark had been unable to remember
details of the accident. Obviously such responses could not earn marks.

Area of Study 2 — Learning

Question 7
Marks 0 1 2 Average
% 35 37 29 1

e A fixed action pattern is instinctive but usually involves a complex sequence of responses — a reflex action is a
simple response to a stimulus.

e The same reflex action (for example, blinking at a puff of air on the eyeball) may be shown by many different
species of animal — fixed action pattern is species specific.

Students achieved two marks for clearly outlining the difference. They needed to clearly state the difference between
the two actions, not merely give a vague definition of each or a difference without noting which action is which.

Question 8a.
Marks 0 1 2 3 Average
% 6 17 20 58 2.3
8ai.

Punishment (or response cost)

8aii.
Positive reinforcement

8aiii.
Negative reinforcement
Question 8h.
Marks 0 1 2 Average
% 12 20 68 1.6

e Heis more likely to repeat the same behavior (sending Gayle to her room and letting Luke play with the toy).
This will probably occur after a shorter amount of arguing between his children.

e This will occur because a negative stimulus (the noise) has been removed as a result of his actions, making it
more likely that he will repeat the behaviour.

Both parts of this response were required for full marks.
Many students wrote responses indicating that next time he would send Luke to his room — presumably to be fair. In

terms of operant conditioning this would be an incorrect response as he is likely to repeat the exact behaviour that
brought the desired response.

Question 9a.
Marks 0 1 Average
% 38 62 0.6

Classical conditioning.

James has started to take sick days to avoid the anxiety. The number of sick days he has taken in the last couple of
months has increased. Eventually James telephones his workplace to say he is sick and will not be at work for a week.

Question 9b.
Marks 0 1 2 Average
% 16 18 66 15
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Both of:
e negative reinforcement
e the anxiety is removed when he does not go to work (negatively reinforcing the behaviour of not going to work
and making it more likely that he will repeat this behavior.)

Question 9c.
Marks 0 1 2 Average
% 44 13 43 1
Both of:
e nO

e asextinction of the conditioned response of anxiety did not occur.

For extinction to occur, the conditioned stimulus (CS) (arriving at work) must no longer cause the conditioned response
(CR) (anxiety due to arriving at work). Spontaneous recovery is the reappearance of the CR after extinction.

Question 10
Marks 0 1 2 Average
% 58 25 17 0.6

Any appropriate example that illustrated the role of motivation was accepted, including (but not limited to):
e performing a slam dunk in basketball after watching an NBL match
e washing up after dinner having seen your sister being praised for doing so
e  putting maple syrup on a pancake after seeing your brother enjoying it.

Motivation needed to be clearly explained. A person is unlikely to reproduce an observed behaviour unless they want to
do so. (Motivation is often linked to reinforcement — if you believe reproducing the behaviour will produce positive
consequences, then you are more likely to carry it out.)

Motivation must be shown to be the desire to perform the action. Reference to reinforcement was not enough to earn
the mark unless it was shown to create this specific desire.

Many students gave examples of motivation to learn, not motivation to perform the behaviour. These answers did not
earn marks as this is not the way the term ‘motivation’ is used in observational learning.

One mark was awarded for the appropriate example that illustrated observational learning. One mark was awarded for a
clear explanation of the process of motivation as it related to this example.

Area of Study 3 — Research Investigation

Question 11
Marks 0 1 Average
% 8 92 0.9

To discover the effects of sugar intake on learning ability

Question 12
Marks 0 1 2 Average
% 34 46 20 0.9

For first year psychology students from Kookaburra University, learning ability — operationalised as the score on a
memory test of 20 words — will be more improved for students who consume a sugary drink than for students who have
a drink containing no sugar.

An operational hypothesis is a stated prediction of the outcome of the experiment that includes:
e statement of the population
e statement of the independent variable (1V)
e statement of the dependent variable (DV)
e operationalisation of the dependent variable.
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If the independent variable was also continuous, then it would also be operationalised.

A correct response included appropriate operationalisation of the dependent variable and statement of the population,
the independent variable and dependent variable.

This question was poorly answered. Students needed to demonstrate their understanding of the concept of
operationalisation and their understanding that a hypothesis is a statement of the predicted effect of a change in the
independent variable on the value of the dependent variable. A hypothesis cannot be expressed as a question; some
students continue to make this error.

Question 13
Marks 0 1 2 Average
% 21 23 56 14

e Independent variable: Whether the participants drank a sugary drink or not.
o Dependent variable: Learning ability (or memory) is operationalised as the score on the 20 word test.

OR
Change in learning ability

As this part of the question was worth only one mark, ‘learning ability’, ‘memory’ or ‘improvement in memory/learning
ability’ were accepted, although they are not strictly complete answers.

Question 14
Marks 0 1 2 Average
% 32 28 40 1.1

e Population: All first year psychology students from Kookaburra University.
e Sample: The 40 students (20 male and 20 female) who volunteered to take part in the study.

It was not necessary to repeat the reference to the specific university in the description of the sample, as long as it was
identified in the description of the population. Many students wrongly identified “all first year psychology students’ or
‘students’ as the population. The answer needed to contain all identifying details.

Question 15
Marks 0 1 Average
% 33 67 0.7

No. The students were 40 volunteers from the population. This biased the sample towards those who were willing to
take part.

Both parts of the response were needed to achieve one mark.

Question 16
Marks 0 1 Average
% 49 51 0.5

Independent groups

Many students wrongly answered ‘repeated measures’. This was probably a misinterpretation of the design in which all
participants had been tested on word lists on two occasions, so that the change in ability could be measured.

Question 17
Marks 0 1 Average
% 38 62 0.6

To establish a base-line for comparison with the post-drink score, so that change in learning ability could be measured.
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Question 18
Marks 0 1 Average
% 32 68 0.7

The participants were not aware of whether they were in the experimental (sugar drink) group or the control (non-sugar
drink) group.

Question 19
Marks 0 1 2 Average
% 49 16 35 0.9
e Median: The score that has as many scores above it as below it in the dataset.
e Mode: The most commonly occurring score in the dataset.
e Standard deviation: The mean difference between each score and the mean of all scores.
e Correlation: A scatterplot showing scores on List A compared with scores on List B.

Any other appropriate descriptive statistic was acceptable, for example, variance, range, interquartile range, kurtosis and
skew.

Question 20
Marks 0 1 Average
% 23 77 0.8
Yes
Question 21
Marks 0 1 2 Average
% 27 29 43 12
No

e Participants were not randomly allocated to groups. With all males in one group and all females in the other,
the results were confounded by gender.
e Participants were not representative of the population as all had volunteered.

Any good reason was accepted.

Question 22
Marks 0 1 2 Average
% 34 26 40 11

Professional conduct or voluntary participation. The participants were coerced into taking part by being given extra
marks for their participation.

Withdrawal Rights. There is no evidence that participants were informed of their rights to leave the experiment at any

stage or to have their results eliminated after the completion of the research. This was accepted as correct, though
withdrawal rights should be covered in the informed consent procedures that were carried out.
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